
                                                                      Exercise Sheet-7 

                                                  Date-11.06.20 

1.6 rutis  can be put in each basket. How many rutis can be 

put in 9 baskets? 

2.Rana has been reading a book by 8 pages a day. How many 

pages will he read in 9 days?      

3.Two hands of a man have 10 fingers. How many fingers do 5 

men have? 

                                                      Solution 

1. 

                               1 basket can be  put in 6 rutis 

            Therefore  9 baskets can be put in (6×9)rutis 

                                                                            =54 rutis 

Ans: 54 rutis. 

 

 

2. 

                    1 day Rana reads  8 pages 

Therefore   9 days Rana reads (8×9) pages 

                                                         =72 pages 



Ans:72 pages. 

 

3. 

1 man has 10 fingers 

Therefore 5 men have (10×5) fingers 

                                          =50 fingers. 

Ans:50 fingers.          

 

                                                  The end 


